“ T S
@ | Connection }
with :
6*M5 Bolt :
Revolving |
Truck : ;4\/—\
|| 260 Stainless Steel
Connection >
with M5 Bolt Flag L |
Beads Module @J76 Stainless Steel
Connection Detail
_A—T
o o | @12 |
S S Stainless Stee
o0} e o -t
o
AN
Connection ~
with 3*M5 Bolt
Hinged Base U I
' R L]
Detail ope Flag
Mechanism Sfick
Connection M
with M8 Bolt 16x200 T1J
_| | 989 Stainless Steel
Stainless _ o
Steel Base Connection S & “
Detall
o
o
=
:
Y Y . Y
Base TIJ (ROT) ﬁ—_
Accessory 4*M16*200

1 2 3 | 4 | 5 | 5 = | -



